Assignment 14: partial differential equations
Due Friday, April 28, 2023

John McCuan
May 7, 2023

Problem 1 (the real gamma function) Consider I' : (0,00) — R by

F(:)s):/ t" et dt.
0

(a) Compute I'(1).
(b) Show [(z + 1) = 2T(z) for z > 0.

(c) Show D(n) = (n— 1) forn=1,2,3, ...
(d) Show [(1/2) = /7.

(e) Show

1 2n)!
'fi=+n :(n)ﬁ for n=123....
2 47!

(f) Show the n-dimensional measure of an n-dimensional ball of radius r in R"™ is

wy,r"™ where
n/2

SRR

(g) Show the (n — 1)-dimensional measure of 0B, (p) is nw,.

(h) Specialize the formula from part (f) to the special cases n = 2k is even and
n = 2k 4+ 1 is odd to show w, is always a rational multiple of a power of .



Problem 2 (mean value property) Show that if uw € C?(U) is harmonic on an open
set U C R™ and B,(p) CC U, then

1
nwy,”r 8B7n(p)

Hint(s): Change variables in the integral so that you integrate over a domain B (0)
independent of r. Differentiate the expression you get with respect to r, and use the
divergence theorem to show the average value is constant. Determine the constant
value must be u(p) (by continuity).

Problem 3 (heat equation) Find a Fourier sine series/separated variables solution
of the heat evolution problem

w = Au. (e,1) € (0,7) x (0, 00)
u(0,t) = 0 = u(m,t), t>0
w(x,0) =7n/2 —|r —7/2], 0<zx<m.

Problem 4 (heat equation) Use mathematical software to illustrate the solution you
found in Problem 3 above. What is interesting about the (apparent) regularity of the
solution?



heat equation with insulated boundary conditions

For Problems 5-7 consider the problem

u = Au, on (0,7) x (0,00)

w(0,8) =0, t>0 Q
ug(m,t) =0, t>0

u(r,0) =z, 0<z<m

Problem 5 (heat equation with insulated boundary conditions) Find the steady
state temperature distribution uy(z) for (1).

Problem 6 (heat equation with insulated boundary conditions) Find a Fourier se-
ries/separated variables solution of (1). You will need to find and solve the appropriate
Sturm-Liouville problem; you can’t just use a sine series.

Problem 7 (heat equation with insulated boundary conditions) Use mathematical
software to illustrate the solution you found in Problem 6 above.



One-dimensional wave equation on a finite interval

For problems 8 and 9 we consider the following initial /boundary value problem

Ugt = Uz for (z,t) € (0,2) x [0, 00)
w(z,0)=z+1/2 —|z—1]/2, z€]0,2]

u(x,0) =0, x € [0,2] (2)
u(0,t) =0, t>0

uw(2,t) =2, t>0

which is assumed to model the logitudinal deformation of a one-dimensional elastic
continuum. I suggest you illustrate the model function u by representing/plotting
a sequence of twenty-one representative parameter/material points x; = j/10 for
7=0,1,2,...,20 as follows: The equilibrium configuration for the elastic continuum
is represented by the spatial identity wug(x,t) = x as indicated in Figure 1. With
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Figure 1: The identity deformation of a one-dimensional continuum

this approach, the initial displacement u(z,0) = x + 1 — |x — 1| can be illustrated as
indicated in Figure 2 with u(1,0) = 3/2.
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Figure 2: Initial deformation of a one-dimensional continuum



Problem 8 (wave equation; Fourier series solution; Boas Chapter 13 Section 4) Let
w(z,t) = u(x,t) — x where u is the solution of (2), and solve the initial/boundary
value problem satisfied by w with w given as a superposition of separated variables
solutions.

Problem 9 (wave equation) Animate the function wu(z,t) obtained in the previous
problem using the mapping approach illustrated in Figures 1 and 2 above (with time
t as the animation parameter).

Problem 10 (integral identities for the multi-dimensional wave equation) Consider
the initial/boundary value problem

uy = Au on U x (0, 00)
u(x,0) =up(x), x€U (3)
ur(x,0) = vo(x), xe€U

u(x,t) = ¢(x,t), on AU x [0,00)

where U is a bounded domain with _C'1 boundary in R" and ug, vy, and ¢ are given
smooth functions. Assume u € C*(U x [0,00)) is a solution of (3) and consider the
“energy” quantity

1
B =5 / [u2 + | Duf?] (4)
U
which may be considered as a sum of kinetic and potential energies.

(a) Calculate the derivative
dE

dt
and use the divergence theorem to express this quantity in terms of the boundary
values.

(b) Give conditions on the function ¢ under which the energy is conserved, i.e.,

dE
E:O.

(c) Interpret the conditions you gave in part (b) above in terms of physical model
assumptions for a two-dimensional (n = 2) elastic membrane.



Bonus Problems

Problem 11 (calculus of variations) Formulate/model the energy (potential energy
due to gravity) associated with a symmetric hanging chain given as the graph of a
function v € C'[—1, 1] with u(—1) = 0 = u(1) and length L = 4.

Problem 12 (calculus of variations) Use the method of Lagrange multipliers to find
an ODE satisfied by the model function u of the previous problem:

(a) Let

1
B = {u € C'—1,1] s u(—~1) =0 = u(1), and / V1+u(z)?de = 4}
-1
Consider Flu] = £[u] — Alength[u] where £ is the potential energy. Show that
if ug € C?*[—1,1] N B satisfies
Elug) < Elul for all u € B,
then there exists some A € R such that Flug] < Flu] for all

ue A= {weC-1,1]:w(-1)=0=w(1)}.

(b) Compute the first variation 6.F,,[¢] for ¢ € C°[—1, 1], and use the fundamental
lemma of the calculus of variations to find all C? minimizers wu, of F.

(c) Solve the ODE from part (b) above, and numerically find A to find the model
shape of the hanging chain. Hint:
d 1

-1 .
%cosh (x) = -

Problem 13 Use the potential energy due to gravity along with the elasticity model
for the tension force in the hanging slinky to model the hanging slinky using the
calculus of variations.



